
Zenith SR3

Demarcation / Welded mesh

Installation Manual



2 of 12EN – Zenith SR3 Installation Manual – P7 | 2018

DISCLAIMER AND COPYRIGHT 3

1 PREFACE 4
1.1 MANUFACTURER / SUPPLIER 4

2 SAFETY 4
2.1 GENERAL SAFETY INSTRUCTIONS 4
2.2 SAFETY DURING INSTALLATION 4

3 SITE ASSESSMENT 5
3.1 CIVIL DETAILS 5

4 INSTALLATION 5

4.1    EXPLANATION OF SYMBOLS 5

4.2    PREPARE SITE 6

4.3    INSTALL POSTS 6

4.4    PANEL INSTALL OPTIONS 7
4.4.1        NON-BURIED PANEL 7
4.4.2        BURIED LOWER PANEL 7

4.4.3        BASEPLATES 7

4.5    INSTALL PANELS 8

4.6    CORNERS 9

4.6.1        EXTERNAL 9

4.6.2        INTERNAL 9

5 BILL OF MATERIALS 10

6 APPENDIX 11

CONTENTS



EN – Zenith SR3 Installation Manual – Issue A | 2018 3 of 12

DISCLAIMER

Although every effort has been made to ensure that the information contained in this manual
is correct at the time of issue, no responsibility is accepted for any loss or damage arising
from incorrect information.

All described work must be performed by certified personnel. Should work deviate from the 
described actions, any guaranteed entitlement and liability of the manufacturer shall no 
longer apply.  

COPYRIGHT

The Copyright of this Manual remains the property of Heras at all times. This Manual may not
be reproduced by any means without prior written permission from Heras.



EN – Zenith SR3 Installation Manual – Issue A | 2018 4 of 12

1	 PREFACE
1.1	 MANUFACTURER / SUPPLIER

Manufacturer:				    Heras 
						      Herons Way 
						      Balby 
						      Doncaster 
						      South Yorkshire 
						      DN4 8WA 
						      United Kingdom 
						      Tel.: +44(0)1302 364 551 
						      email: info@heras.com 
						      www.heras.co.uk

Technical Construction File:		  Heras, T&I Department 

2	 SAFETY
2.1	 GENERAL SAFETY INSTRUCTIONS 

•	 Always read and understand all instructions in this manual before installing. 
Contact Heras if any instructions are unclear.

•	 If the meaning of any part of these instructions is not clear, contact Heras before 
attempting installation. 

2.2	 SAFETY DURING INSTALLATION

•	 Always wear safety boots during installation. Make use of other personal protective 
equipment where applicable.

•	 Observe safe lifting techniques and use lifting aids where applicable.



EN – Zenith SR3 Installation Manual – Issue A | 2018 5 of 12

3	 SITE ASSESSMENT
3.1	 CIVIL DETAILS

To guarantee the longest effective use of the Zenith SR3, always first assess the 
following on site::

•	 Soil mix

•	 Ground bearing pressure

•	 Humidity

Drawings showing recommended positions of the equipment and foundation requirements can 
be supplied alongside the relevant data sheets.

4	 INSTALLATION
4.1	 EXPLANATION OF SYMBOLS

Protective gloves
Use when working with 
concrete.

Wait
Allow concrete to cure.

Level
Use a spirit level.

Shovel
Digging required.

Electric screwdriver
Use for fixings.

Hammer
Use a hammer.

Attack side
Shows direction of attack.



EN – Zenith SR3 Installation Manual – Issue A | 2018 6 of 12

1

2 3

4A

Clear and level the site appropriate before beginning installation. Dig foundations for 
posts to 450 mm², 1100 mm deep.

Insert posts, using a spirit level to keep them 
perpendicular. If necessary, place wooden 
blocks at base of posts to keep them flat and 
level with one another.

Attach wooden struts to hold posts in 
place.

Fill foundations with concrete up to 750 mm 
depth.

75
0

75
0

4.2	 PREPARE SITE

4.3	 INSTALL POSTS

4B

Allow concrete to cure. Remove 
wooden struts.

450 x 450450 x 450

2450
A 11
00

450 x 450450 x 450

2450

A



EN – Zenith SR3 Installation Manual – Issue A | 2018 7 of 12

4.4	 INSTALL OPTIONS

Consult site drawings to determine applicable option (4.4.1, 4.4.2 or 4.4.3).

4.4.1.	 NON-BURIED PANEL

5

Affix the panels as shown in section 4.5. Fill remainder of foundations. 

4.4.2.	 BURIED LOWER PANEL

Dig a channel 300mm deep for each panel 
between the posts, wide enough for each 
respective panel.

6A 6B

30
0

7

For installations with baseplates, see details on the site drawings. A standard baseplated 
system is shown above (with 25 mm diameter fixing holes). Use resin anchors to attach 
baseplates to foundations.

Always install single skin panel first at lowest fixture.

Insert panels into channels, with the single 
mesh panel on attack face. Affix to posts as 
shown in section 4.5. Complete foundation fill, 
then fill channels with aggregate or similar.

30
0

4.4.3.	 BASEPLATES



EN – Zenith SR3 Installation Manual – Issue A | 2018 8 of 12

4.5	 INSTALL PANELS

8A 8B

Install single-skin panels first on the attack 
face side of the post, overlapping panels on 
intermediate post.

Clamp with flat bar and thread bolt 
completely through the post before installing 
double-skin panels.

Assemble bolts as shown.

Use a hex nut and washer to secure top bolt 
of each post.

Use shear nuts and washers for all other 
bolts.

8C

If the bolts are difficult to insert, use hammer and tapered peg to displace the mesh to widen 
aperture as shown.



EN – Zenith SR3 Installation Manual – Issue A | 2018 9 of 12

4.6	 CORNERS

4.6.1.	 EXTERNAL

9A

Arrange external corners as shown.

Retaining angles must be welded to the post.

Install single skin mesh first.

Instead of overlapping, set panels on 
retaining angles adjacent to form a corner 
assembly as shown.

Offset bolts to eliminate intersecting.

4.6.2.	 INTERNAL

Arrange internal corners as shown.

Retaining angles must be welded to the 
post.

Install single skin mesh first.

Instead of overlapping, set panels on 
retaining angles adjacent to form a corner 
assembly as shown.

Offset bolts to eliminate intersecting.

9B

10A 10B



EN – Zenith SR3 Installation Manual – Issue A | 2018 10 of 12

Image Name Stages

M10 cup square bolt 8A, 8B, 9A, 9B, 10A, 10B

Hex nut 8A, 8B

Shear nut 8A

Washer 8A

Flat bar 8A, 8B, 9A, 9B, 10A, 10B

Single-mesh panel 4, 6B, 7A, 8A, 8B, 8C, 9A, 9B, 
10A, 10B

Double-mesh panel  8B, 8C, 9A, 9B, 10A, 10B

Post 2, 3, 4A, 4B, 5, 6A, 6B, 7, 8A, 
8B, 9A, 9B, 10A, 10B

Baseplate and baseplate 
fixings 7

5	 BILL OF MATERIALS

H
eras reserves the right to m

ake product changes w
ithout prior notice. W

e do not accept any responsibility for m
istakes, inaccuracies and/or printing errors.  EN

_3A3D
_1.1

Drawings  (dimensions in mm)

MaterialSteel

Colour
(other colours available 
upon request)

RAL 6005 (moss green)
RAL 9005 (jet black) 

FinishGalvanized and polyester powder coated 

Mesh profile76.2 x 12.7 mm

Panel width2515 mm

Mesh wire diameter4 mm

Post centre-to-centre2440 mm 

Certificates
• Polyester powder coating according to BS EN 13438
• Hot-dip galvanized according to BS EN 1461
• Tested to LPS 1175
• Secured By Design accreditation

Ordering information
Contact your local Heras office for precise ordering details.

Suggested accessories / products
• Perimeter intrusion detection (PIDS) 
• Vertical arms, lean over arms, Y and T bar extensions

Technical specifications
Post length (A)Panel height (B)Post dimensionsNo. of fixings

2400180060 x 60 SHS7

2700200060 x 60 SHS8

3100240060 x 60 SHS9

3820300080 x 40 RHS11

5200420080 x 80 SHS15

62005200100 x 100 SHS18

2440

A

B

3
0
0

Attack face

Herons Way  |  Doncaster  |  DN4 8WA  |  South Yorkshire  |  United Kingdom
+44 130 236 4551  |  info@heras.co.uk  |  heras.co.uk 

SECURE MESH PANEL
TO POSTS AS SHOWN



EN – Zenith SR3 Installation Manual – Issue A | 2018 11 of 12

= PANEL WIDTH-68

30
00

overall width of rear panel = 0.5m to 3.0m ( 12.7mm )

overall width of front panel = 0.5m to 3.0m ( 76.2mm)

44 44

30
01

  o
ve

ra
ll h

ei
gh

t o
f f

ro
nt

 p
an

el
25

18
 o

ve
ra

ll h
ei

gh
t o

f r
ea

r p
an

el

10
00

30
0

Details of Standard fence panel Elevation of Standard fence

Rear mesh panel Ø4mm wires at 12.7mm 
horizontal centres far face, 76.2mm vertical 

centres near face

Front mesh panel Ø4mm wires at 76.2mm 
horizontal centres near face, 12.7mm vertical 

centres far face

For mesh weld positions see drawing A07001

30
00

 si
ng

le
 sk

in
 m

es
h

450

75
0

25
18

 D
ou

bl
e 

Sk
in

 c
ov

er
ag

e
65

0 
m

in

A

450mm2 mass of concrete
MESH BURIED 300mm 
IN GROUND

34 34

Inter post detail

for increased security end of 
bolt to be cut and burred 
over to further prevent 
removal of nut

M10 Shear nut

M10 Washer

120x60x5mm RHS

SINGLE SKIN

DOUBLE SKIN

12
0

120

5

Corner post detail

SINGLE SKIN

DOUBLE SKIN

Retaining angles 
welded to post to take 
fence fabric 
(3mm fillet welds 40mm 
long @ 200mm centres) 

22 No. M10 
galvanised bolt x 
180mm long 
(grade 8.8) @ 
295mm centres

12
0

120

5

Reverse corner post detail

DOUBLE SKIN

SINGLE SKIN

22 No. M10 galvanised bolt x 
180mm long (grade 8.8) @ 
295mm centres

25

29
5

DETAIL A
Bolt Centre detail

11 No. M10 galvanised 
bolt x 180mm long 
(grade 8.8) @ 295mm 
centres

Mesh Panels - Internal skin comprising of self colour Zenith welded mesh double skin panels 3.0m high 
manufactured using Ø4mm wire resistance welded forming a 76.2mm x 12.7mm mesh aperture and the 
inner panel turned through 90  and welded to the parent front panel at strategic positions in order to form a 
rigid construction (58% solidity) and subsequently galvanised. External skin of fence comprising of 3.3m high 
Zenith mesh manufactured using Ø4mm resistance welded forming a 76.2mm x 12.7mm mesh aperture.

Fencing - The support posts are 4.0m long manufactured from 120x60x5mm hot rolled section. The mesh 
panels are overlapped and clamped to support posts using a clamp bar manufactured from 60x5mm 
flatbar and fixed using M10 x 180mm cup sq bolts (grade 8.8) with shear nuts. Internal face of the fence is 
installed using the same bolts and additional clamp bars in conjunction with M10 permacone nuts for added 
security.

Finish - The fencing system will be compliant with BS 1722 part 14 and will be hot dipped galvanised to BS EN 
ISO 1461:2009, and available to be subsequently polyester powder coated.

Material Spec

SR3_fe_001-A
SR3_fe

A
SHEET 1  OF  13D SOLID DWG REF:

DWG NO. REV

MATERIAL

FINISH

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MM
TOLERANCES ARE:

CHECKED

DRAWN

HERAS UK FENCING SYSTEMS

27/05/16
22/01/18SM

SM

+0.50mm
 -0.50mm Heras SR3 fence System

3.0m high in ground spec
Specification detail-

-

THE  INFORMATION  CONTAINED  IN  THIS  DRAWING  IS  THE  SOLE  PROPERTY  OF
HERAS UK FENCING SYSTEMS  ANY  REPRODUCTION  IN  PART  OR  WHOLE  WITHOUT
THE  WRITTEN  PERMISSION  OF  HERAS UK FENCING SYSTEMS  IS  PROHIBITED.

DRAWING REVISION CHANGES

REV DATE DRAWN ALTERATION

A 22/01/18 SM Bolt narrative added to include grade

= PANEL WIDTH-68

30
00

overall width of rear panel = 0.5m to 3.0m ( 12.7mm)

overall width of front panel = 0.5m to 3.0m ( 76.2mm)

44 44

33
05

  o
ve

ra
ll h

ei
gh

t o
f f

ro
nt

 p
an

el
25

18
 o

ve
ra

ll h
ei

gh
t o

f r
ea

r p
an

el

10
00

30
0

Details of Standard fence panel Elevation of Standard fence

Rear mesh panel Ø4mm wires at 12.7mm 
horizontal centres far face, 76.2mm vertical 

centres near face

Front mesh panel Ø4mm wires at 76.2mm 
horizontal centres near face, 12.7mm vertical 

centres far face

For mesh weld positions see drawing A07001

450

75
0

22
18

 D
ou

bl
e 

Sk
in

 c
ov

er
ag

e

30
00

30
0 

BU
RI

ED

65
0m

in

A

450mm2 mass of concrete

MESH BURIED 300mm 
IN GROUND

34 34

Inter post detail

for increased security end of 
bolt to be cut and burred 
over to further prevent 
removal of nut

M10 Shear nut

M10 Washer

120x60x5mm RHS

12
0

120

40

40

5

Corner post detail

22 No. M10 
galvanised bolt x 
180mm long 
(grade 8.8) @ 
295mm centres

12
0

120

40

405

Reverse corner post detail

22 No. M10 galvanised bolt 
x 180mm long (grade 8.8) 
@ 295mm centres

25

29
5

DETAIL A
Bolt Centre detail

11 No. M10 galvanised 
bolt x 180mm long 
(grade 8.8) @ 295mm 
centres

Mesh Panels - Comprising of self colour Zenith welded mesh double skin panels 3.3m high manufactured 
using Ø4mm wire resistance welded forming a 76.2mm x 12.7mm mesh aperture and the inner panel turned 
through 90  and welded to the parent front panel at strategic positions in order to form a rigid construction 
(58% solidity) and subsequently galvanised. 

Fencing - The support posts are 4.0m long manufactured from 120x60x5mm hot rolled section. The mesh 
panels are overlapped and clamped to support posts using a clamp bar manufactured from 60x5mm 
flatbar and fixed using M10 x 180mm cup sq bolts with shear nuts (grade 8.8). 

Finish - The fencing system will be compliant with BS 1722 part 14 and will be hot dipped galvanised to BS EN 
ISO 1461:2009, and available to be subsequently polyester powder coated.

Material Spec

SR2_fe_001-A
SR2_fe

A
SHEET 1  OF  13D SOLID DWG REF:

DWG NO. REV

MATERIAL

FINISH

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MM
TOLERANCES ARE:

CHECKED

DRAWN

HERAS UK FENCING SYSTEMS

27/05/16
22/01/18SM

SM

+0.50mm
 -0.50mm Heras SR2 fence System

3.0m high in ground spec
Specification detail-

-

THE  INFORMATION  CONTAINED  IN  THIS  DRAWING  IS  THE  SOLE  PROPERTY  OF
HERAS UK FENCING SYSTEMS  ANY  REPRODUCTION  IN  PART  OR  WHOLE  WITHOUT
THE  WRITTEN  PERMISSION  OF  HERAS UK FENCING SYSTEMS  IS  PROHIBITED.

DRAWING REVISION CHANGES

REV DATE DRAWN ALTERATION

A 22/01/18 SM Bolt narrative amended to include grade

6	 APPENDIX
Double-mesh panel overlap and foundation specifications are shown below.

22
18

Panel overlap specifications

Overall front panel 
height (A)

Overall rear panel 
height (B)

3001 2518

BA



Local supplier stamp:

Heras
Herons Way
Balby
Doncaster
South Yorkshire
DN4 8WA
United Kingdom


